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#1: 13 7545(165.65) #2: 3 Oceans(133.74) #3: 1 #FK,(129.26)
1 NS: =6k 5REHGHO) -22 12 NS: REF BEBER(BIC) 7 VP:| 2.66 17.34| Total VP: 129.26 Rank:
EW: $8{—5k Mh&eREAC) -7 EW: W3R 2% (FH0) 22 IMP:| 13 40 3
. s
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW4 -420 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 450  4HS5 450 00 8 vdJ 4HWS5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 0 NS:0 3NN5 460 00 3 ¢ KT4 Dif: 30 NS:1  4HW5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: 1 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 + QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2 ~~~~ ¢J95
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 4SS5 650 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE6 -1210 Mean: 6CE-3 150 130 1
v Q9872 6CS6 1370 660  3NS6 690 1.0 1 o 4HEG6 -480 -690 4HE4 420 7.0 1
« KJ954 Dif: -720 NS:0 5SS5 650 0.0 1 o K74 Dif: -730 NS:-11 3NW5 460 6.0 1
» Ad43 IMP: -12 EW:-12 4SS5 650 0.0 3 » KQ7 IMP: -12 EW:-5 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
® 4V eN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 1NE-2 100 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS4 180 Mean: 2SE-3 300 30 1
v KJT7 1NN3150 70  1NN2 120 20 1 v QT97 3NS-1-50 180  1CW-3 300 3.0 2
¢+ QTS5 Dif: -50 NS:1 2SS2 110 1.0 2 » KJ86 Dif: 230 NS:0 1CW-2 200 1.0 2
& A954 IMP: -2 EW:-2 1NE-2 100 1.0 4 a J63 IMP: 6 EW:6 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
PIVEN LAKJIT53 PIVEN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4HS4 420 Mean: 4SN6 480 50 1 ||#18 » T8543 3NW3 -400 Mean: 2NE2 120 3.0 1
v T85 2SN5200 280  4SN5 450 50 2 v QT6 1NW3 -150 -220 1NW2 120 3.0 1
o AKT Dif: 220 NS:4 4HN5 450 50 1 * K2 Dif: -250 NS:-5 1NW3 150 2.0 4
a7 IMP: 6 EW:2 4SN4 420 40 1 » Q73 IMP: -6 EW:-2 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
* 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
# 19 » Q6 5DS6 420 Mean: 6DS6 920 100 1 ||# 20 » KQ8 4HS-2 -200 Mean: 4HS4 620 8.0 4
v QJ873 4HN5 450 470  5HN6 480 00 2 v KT42 1NN190 260  4HN4 620 80 3
o A732 Dif: -30 NS:-2 4HN6 480 00 2 + K8 Dif: -290 NS:-10 1NN1 90 50 1
» 54 IMP: -1 EW:1  4HN5 450 1.0 6 » AK43 IMP: -7 EW:5 4HS-1 100 -80 3
& AT952 » KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1
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11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
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#1: 13 JE1E(165.65) #2: 3 Oceans(133.74) #3: 1 BEFK(129.26)
2 NS: HEZE KEJHEGHO) -26 4 NS: il Z=5{E(FC) 29 VP:| 0.00 20.00| Total VP: 84.11 Rank:
EW: BiEREE ST1H %R C) 2 EW: Ji731E EE(50) 26 IMP:| 7 : 56 13
. s
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW6 -480 Mean: 4HW-1 50 10.0 1
v Q3 4HS6 480 450  4HS5 450 00 8 vdJ 4HWS5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: -30 NS:0 3NN5 460 00 3 ¢ KT4 Dif: -30 NS:-1  4HWS5 450 0.0 6
#» K853 IMP: -1 EW:-1 » AQ84 IMP: -1 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 ¢ 85 * AT2 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
*eveN QT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4HN-1 -100 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 4SXN-4 -800 Mean: 6CE-3 150 130 1
v Q9872 5585650 660  3NS6 690 1.0 1 o 4HE4 -420 -690 4HE4 420 7.0 1
« KJ954 Dif: -750 NS:-13 5SS5 650 0.0 1 o K74 Dif: -380 NS:-3 3NW5 460 6.0 1
» A43 IMP: -13 EW:0 4SS5 650 0.0 3 » KQ7 IMP: -9 EW:-7 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 100 130 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 ¢AJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 &832
W ~~~~~ W6~6~5
# 15 » Q2 1NN2 120 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS4 180 Mean: 2SE-3 300 30 1
v KJT7 1NE-2100 70  1NN2 120 20 1 v QT97 1CW-3300 180 1CW-3 300 3.0 2
¢+ QTS5 Dif: 20 NsS:2 2SS2 110 1.0 2 » KJ86 Dif: -120 NS:0 1CW-2 200 1.0 2
& A954 IMP: 1 EW:-1 1NE-2 100 1.0 4 a J63 IMP: -3 EW:-3 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 ¢ A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 875 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 2NS2 120 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 -150 Mean: 2NE2 120 3.0 1
v T85 4SN4 420 280  4SN5 450 50 2 v QT6 3NE3 -400 -220 1NW2 120 3.0 1
o AKT Dif: -300 NS:-4 4HN5 450 50 1 * K2 Dif: 250 NS:2 1NW3 150 2.0 4
a7 IMP: -7 EW:-4 4SN4 420 40 1 » Q73 IMP: 6 EW:5 1NW4 -180 1.0 3
4T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HS-1-100 Mean: 4HS4 620 8.0 4
v QJ8B73 6DS6 920 470  5HN6 480 00 2 v KT42 4HS4 620 260  4HN4 620 80 3
o A732 Dif: -470 NS:-1  4HN6 480 00 2 + K8 Dif: -720 NS:-8 1NN1 90 50 1
» 54 IMP: -10 EW:-10 4HN5 450 1.0 6 » AK43 IMP: -12 EW:-8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 14& F<F 2RBERF HL 2 == RII 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
3 NS: $2:% B (GEO) 7 14 NS: 15fREE BREE(BAC) -13 VP:| 1597 : 4.03 Total VP: 133.74 Rank:
EW: B 18 ZEBEEIC) 13 EW: [REZE) BRZE)(BAO) -7] IMP:| 21 : 1 2
. s -
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HWS5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS6 480 450  4HS5 450 00 8 vdJ 4HWS5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: -30 NS:0 3NN5 460 00 3 ¢ KT4 Dif: 0 NS:0 4HW5 450 0.0 6
#» K853 IMP: -1 EW:-1 » AQ84 IMP: 0 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 + QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4NN4 630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 4HEG6 -480 Mean: 6CE-3 150 13.0 1
v Q9872 4HN-1-100 660 3NS6 690 1.0 1 v 4HEG6 -480 -690 4HE4 420 7.0 1
« KJ954 Dif: 730 NS:-1 5SS5 650 0.0 1 o K74 Dif: 0 NS:5 3NW5 460 6.0 1
» Ad43 IMP: 12 EW:13 4SS5 650 0.0 3 » KQ7 IMP: 0 EW:-5 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 * 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 2SS-1-100 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS4 180 Mean: 2SE-3 300 30 1
v KJT7 2CS-1-100 70  1NN2 120 20 1 v QT97 1NS3 150 180 1CW-3 300 3.0 2
¢+ QTS5 Dif: 0 NS:-5 2SS2 110 1.0 2 » KJ86 Dif: 30 NS:0 1CW-2 200 1.0 2
& A954 IMP: 0 EW:5 1NE-2 100 1.0 4 a J63 IMP: 1 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 28S-1 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2CS-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 875 & Q42
PIVEN LAKJIT53 PIVEN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4HN5 450 Mean: 4SN6 480 50 1 ||#18 » T8543 3NW3 -400 Mean: 2NE2 120 3.0 1
v T85 2SN5200 280 4SN5 450 50 2 v QT6 3NE4 -430 -220 1NW2 120 3.0 1
o AKT Dif: 250 NS:5 4HN5 450 50 1 * K2 Dif: 30 NS:-5 1NW3 150 2.0 4
a7 IMP: 6 EW:2 4SN4 420 40 1 » Q73 IMP: 1 EW:5 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
* 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
# 19 » Q6 5HNG6 480 Mean: 6DS6 920 100 1 ||# 20 » KQ8 4HS4 620 Mean: 4HS4 620 8.0 4
v QJ873 4HN5 450 470  5HN6 480 00 2 v KT42 4HN4 620 260  4HN4 620 80 3
o A732 Dif: 30 NS:0 4HN6 480 00 2 + K8 Dif: 0 NS:8 1NN1 90 50 1
» 54 IMP: 1 EW:1 4HN5 450 1.0 6 » AK43 IMP: 0 EW:-8 4HS-1 100 -80 3
& AT952 » KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 114-&‘#—‘\1_?:@3]7}%@%% it e ==> Rll 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
4 NS: ol B Z5EEEAC) 29 2 NS: EEZE RENE(FAO) -2( VP:| 20.00 : 0.00 Total VP: 88.32 Rank:
EW: J/51F EEHHEHO) 26 EW: 3B SAIEZ(BAC) IMP:| 56 7 1
. s
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW6 480 Mean: 4HW-1 50 10.0 1
v Q3 4HS6 -480 450  4HS5 450 00 8 vdJ 4HW5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 30 NS:1  3NN5 460 00 3 ¢ KT4 Dif: 30 NS:0 4HW5 450 0.0 6
#» K853 IMP: 1 EW:0 » AQ84 IMP: 1 EW:1 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * AT2 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4HN-1 100 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 4SXN-4 800 Mean: 6CE-3 150 130 1
v Q9872 5SS5 -650 660  3NS6 690 1.0 1 o 4HE4 420 -690 4HE4 420 7.0 1
« KJ954 Dif: 750 NS:0 5SS5 650 0.0 1 o K74 Dif: 380 NS:7 3NW5 460 6.0 1
» A43 IMP: 13 EW:13 4SS5 650 0.0 3 » KQ7 IMP: 9 EW:3 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 1NN2 -120 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS4 -180 Mean: 2SE-3 300 30 1
v KJT7 1NE-2-100 70  1NN2 120 20 1 v QT97 1CW-3-300 180  1CW-3 300 3.0 2
¢+ QTS5 Dif: -20 NS:1  2SS2 110 1.0 2 » KJ86 Dif: 120 NS:3 1CW-2 200 1.0 2
& A954 IMP: -1 EW:-2 1NE-2 100 1.0 4 a J63 IMP: 3 EW:0 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ aAKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 2NS2 -120 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 150 Mean: 2NE2 120 3.0 1
v T85 4SN4 -420 280  4SN5 450 50 2 v QT6 3NE3 400 -220 1NW2 120 3.0 1
o AKT Dif: 300 NS:4 4HN5 450 50 1 * K2 Dif: -250 NS:-5 1NW3 150 2.0 4
a7 IMP: 7 EW:4 4SN4 420 40 1 » Q73 IMP: -6 EW:-2 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W 3~3~3
#19 » Q6 4HN5 -450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HS-1 100 Mean: 4HS4 620 8.0 4
v QJ8B73 6DS6 -920 470  5HN6 480 00 2 v KT42 4HS4 -620 260  4HN4 620 80 3
o A732 Dif: 470 NS:10 4HN6 480 00 2 * K8 Dif: 720 NS:8 1NN1 90 50 1
» 54 IMP: 10 EW:1  4HN5 450 1.0 6 » AK43 IMP: 12 EW:8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 R
11 1143#—‘\1393]7}%@%% il ==> Rl 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
5 NS: B 5 8 #(5H0) 3 10 NS: ZER F=18(BiC) 2 | VP:| 10.39 : 9.61 Total VP: 100.44 Rank:
EW: ENEFT BESF B(BAC) -2 EW: BB sRE#3(BRO) -3 IMP:| 26 : 25 9
. e ———————————
# 11 » K98 4HS6 480 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HE5 -450 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 460 450  4HS5 450 00 8 vdJ 3NWS5 -460 -440 4HW4 420 1.0 1
+ AQ64 Dif: 20 NS:1  3NN5 460 00 3 ¢ KT4 Dif: 10 NS:0 4HW5 450 0.0 6
#» K853 IMP: 1 EW:0 » AQ84 IMP: 0 EW:1 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
®IVeN LQT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 3NN4 630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE7 -1310 Mean: 6CE-3 150 130 1
v Q9872 6CS6 1370 660  3NS6 690 1.0 1 o 3NW5 -460 -690 4HE4 420 7.0 1
« KJ954 Dif: -740 NS:-1 5SS5 650 0.0 1 o K74 Dif: -850 NS:-12 3NW5 460 6.0 1
» A43 IMP: -12 EW:-12 4SS5 650 0.0 3 » KQ7 IMP: -13 EW:-6 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 + + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 ¢AJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 &832
W ~~~~~ W6~6~5
# 15 s Q2 2SS2 110 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1CW-2 200 Mean: 2SE-3 300 30 1
v KJT7 1NE-2100 70  1NN2 120 20 1 v QT97 2NS4180 180 1CW-3 300 3.0 2
¢+ QTS5 Dif: 10 NS:1 2SS2 110 1.0 2 » KJ86 Dif: 20 NS:1  1CW-2 200 1.0 2
& A954 IMP: 0 EW:-1 1NE-2 100 1.0 4 a J63 IMP: 1 EW:0 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 875 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4SN5 450 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW4 -180 Mean: 2NE2 120 3.0 1
v T85 3SN4170 280  4SN5 450 50 2 v QT6 1NW4 -180 220 1NW2 120 3.0 1
o AKT Dif: 280 NS:5 4HN5 450 50 1 * K2 Dif: 0 NS:1  1NW3 150 2.0 4
a7 IMP: 7 EW:3 4SN4 420 40 1 » Q73 IMP: 0 EW:-1 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HN4 620 Mean: 4HS4 620 8.0 4
v QJ8B73 2NN6 240 470  5HN6 480 00 2 v KT42 4HS-1-100 260  4HN4 620 80 3
o A732 Dif: 210 NS:-1  4HN6 480 00 2 * K8 Dif: 720 NS:8 1NN1 90 50 1
» 54 IMP: 5 EW:6 4HN5 450 1.0 6 » AK43 IMP: 12 EW:8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 14& F<F 2RBERF HL 2 == RII 11
#1: 13 212(165.65) #2: 3 Oceans(133.74) #3: 1 EEFK,(129.26)
6 NS: #4841 BEZIZ(BH0) 0 8 NS: 5E€5 MER(BAC) -24 VP:| 1597 : 4.03 Total VP: 115.84 Rank:
EW: £&#k £ (FHC) 25 EW: 3565 Z5548(50) 0 IMP:| 31 11 6
. s -
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 3NW5 -460 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 460 450  4HS5 450 00 8 vdJ 4HES5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: -10 NS:0 3NN5 460 00 3 ¢ KT4 Dif: -10 NS:-1  4HW5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: 0 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJTI74 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2 ~~~~ ¢J95
E ~~~~~ a9 E ~~534 aJ6532
W~~~-~-~ W~~535
#13 S 3NN4 630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE7 -1310 Mean: 6CE-3 150 130 1
v Q9872 3CS5150 660 3NS6 690 1.0 1 o 6HE6 -980 -690 4HE4 420 7.0 1
« KJ954 Dif: 480 NS:-1 5SS5 650 0.0 1 o K74 Dif: -330 NS:-12 3NW5 460 6.0 1
» Ad43 IMP: 10 EW:11 4SS5 650 0.0 3 » KQ7 IMP: -8 EW:7 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 130 2 ||& T64 & AJ95 6HXE7 1310 120 2
® 4V eN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NE-150 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1CW-3 300 Mean: 2SE-3 300 30 1
v KJT7 INE-150 70  1NN2 120 20 1 v QT97 1CW-2200 180 1CW-3 300 30 2
¢+ QTS5 Dif: 0 NS:-1 2SS2 110 1.0 2 » KJ86 Dif: 100 NS:3 1CW-2 200 1.0 2
& A954 IMP: 0 EW:1 1NE-2 100 1.0 4 a J63 IMP: 3 EW:-1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4HN4 420 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW4 -180 Mean: 2NE2 120 3.0 1
v T85 2SN5200 280  4SN5 450 50 2 v QT6 1NW2 -120 220 1NW2 120 3.0 1
o AKT Dif: 220 NS:4 4HN5 450 50 1 * K2 Dif: -60 NS:1  1NW3 150 2.0 4
a7 IMP: 6 EW:2 4SN4 420 40 1 » Q73 IMP: -2 EW:-3 1NW4 -180 1.0 3
4T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 20 3 [|e QJTS ¢ A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W 3~3~3
#19 » Q6 4HN5 450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HS4 620 Mean: 4HS4 620 8.0 4
v QJ873 4HNG6 480 470  5HN6 480 00 2 v KT42 4HS-1-100 260  4HN4 620 80 3
o A732 Dif: -30 NS:-1  4HN6 480 00 2 * K8 Dif: 720 NS:8 1NN1 90 50 1
» 54 IMP: -1 EW:0 4HN5 450 1.0 6 » AK43 IMP: 12 EW:8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 114E;*E}_E€Hﬁﬁm% it e ==> Rll 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
7 NS: EiiE FiEHEGH0) 33 9 NS: B Bi=R5H(BAC) 14| VP:| 15.29 : 4.71 | Total VP: 114.46 Rank:
EW: Egsl 2% EEAC) -14 EW: 2177 SRZKE(BRO) -3 IMP:| 33 16 7
. s
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW-1 50 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 450  4HS5 450 00 8 vdJ 4HWS5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 0 NS:0 3NN5 460 00 3 ¢ KT4 Dif: 500 NS:10 4HWS5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: 11 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 6CS6 1370 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 4HEG -480 Mean: 6CE-3 150 130 1
v Q9872 4SS5650 660 3NS6 690 1.0 1 v 6CE-3150 -690 4HE4 420 7.0 1
« KJ954 Dif: 720 NS:12 5SS5 650 0.0 1 o K74 Dif: -630 NS:5 3NW5 460 6.0 1
» A43 IMP: 12 EW:0 4SS5 650 0.0 3 » KQ7 IMP: -12 EW:-13 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 * 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 ¢AJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ aQJ975 E 5~6~5 &832
W ~~~~~ W6~6~5
# 15 s Q2 2SS2 110 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS3 150 Mean: 2SE-3 300 30 1
v KJT7 1NE-150 70  1NN2 120 20 1 v QT97 2SE-3300 180 1CW-3 300 30 2
¢ QT5 Dif: 60 NS:1 2SS2 110 1.0 2 + KJ86 Dif: -150 NS:-1 1CW-2 200 1.0 2
& A954 IMP: 2 EW:1 1NE-2 100 1.0 4 a J63 IMP: -4 EW:-3 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 28S-1 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2CS-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2NS2 120 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 -150 Mean: 2NE2 120 3.0 1
v T85 3NS-1-50 280 4SN5 450 50 2 v QT6 1NE4 -180 -220 1NW2 120 3.0 1
o AKT Dif: 170 NS:-4 4HN5 450 50 1 * K2 Dif: 30 NS:2 1NW3 150 2.0 4
a7 IMP: 5 EW:8 4SN4 420 40 1 » Q73 IMP: 1 EW:-1 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
* 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
# 19 » Q6 5HNG6 480 Mean: 6DS6 920 100 1 ||# 20 » KQ8 4HN4 620 Mean: 4HS4 620 8.0 4
v QJ8B73 5DS6 420 470  5HN6 480 00 2 v KT42 4HS4 620 260  4HN4 620 80 3
o A732 Dif: 60 NS:0 4HN6 480 00 2 + K8 Dif: 0 NS:8 1NN1 90 50 1
» 54 IMP: 2 EW:2 4HN5 450 1.0 6 » AK43 IMP: 0 EW:-8 4HS-1 100 -80 3
& AT952 » KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




G- < 2
11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
Ve
#1: 13 JE1E(165.65) #2: 3 Oceans(133.74) #3: 1 BEFK(129.26)
8 NS: #527F HEEEEC) -25 6 NS: #1288l BE=F(BAO) 0 VP:| 4.03 15.97 | Total VP: 103.10 Rank:
EW: MR =258 EI0) 0 EW: 828X T4 (BiC) IMP:| 11 31 8
. s -
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 3NW5 460 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 450  4HS5 450 00 8 vdJ 4HES5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 10 NS:0 3NN5 460 00 3 ¢ KT4 Dif: 10 NS:0 4HW5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: 0 EW:1 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
®IVeN LQT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 3NN4 -630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE7 1310 Mean: 6CE-3 150 130 1
v Q9872 3CS5-150 660 3NS6 690 1.0 1 o 6HE6 980 -690 4HE4 420 7.0 1
« KJ954 Dif: -480 NS:-11 5SS5 650 0.0 1 o K74 Dif: 330 NS:-7 3NW5 460 6.0 1
» Ad43 IMP: -10 EW:1 4SS5 650 0.0 3 » KQ7 IMP: 8 EW:12 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 1NE-1-50 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1CW-3 -300 Mean: 2SE-3 300 30 1
v KJT7 1NE-1-50 70  1NN2 120 20 1 v QT97 1CW-2-200 180 1CW-3 300 3.0 2
¢+ QTS5 Dif: 0 NS:-1 2SS2 110 1.0 2 » KJ86 Dif: -100 NS:1  1CW-2 200 1.0 2
& A954 IMP: 0 EW:1 1NE-2 100 1.0 4 a J63 IMP: -3 EW:-3 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4HN4 -420 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW4 180 Mean: 2NE2 120 3.0 1
v T85 2SN5-200 280  4SN5 450 50 2 v QT6 1NW2 120 -220 1NW2 120 3.0 1
o AKT Dif: -220 NS:-2 4HN5 450 50 1 * K2 Dif: 60 NS:3 1NW3 150 2.0 4
a7 IMP: -6 EW:-4 4SN4 420 40 1 » Q73 IMP: 2 EW:-1 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W 3~3~3
#19 » Q6 4HN5 -450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HS4 -620 Mean: 4HS4 620 8.0 4
v QJ873 4HNG6 -480 470  5HN6 480 00 2 v KT42 4HS-1100 260  4HN4 620 80 3
o A732 Dif: 30 NS:0 4HN6 480 00 2 + K8 Dif: -720 NS:-8 1NN1 90 50 1
» 54 IMP: 1 EW:1 4HN5 450 1.0 6 » AK43 IMP: -12 EW:-8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




o < 2
11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
Ve
#1: 13 7545(165.65) #2: 3 Oceans(133.74) #3: 1 #FK,(129.26)
9 NS: BRI BRE=HIERAC) 14 7 NS: EHIE Fi5HE(B0) 33| VP:| 4.71 15.29| Total VP: 90.27 Rank:
EW: Z0780 RRi&EHO) -33 EW: ZBEgEL =% F(BAC) 1 IMP:| 16 33 10
. s
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW-1 -50 Mean: 4HW-1 50 10.0 1
v Q3 4HS5 -450 450  4HS5 450 00 8 vdJ 4HW5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 0 NS:0 3NN5 460 00 3 ¢ KT4 Dif: -500 NS:0 4HWS5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: -11 EW:-10 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 6CS6 -1370 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 4HEG6 480 Mean: 6CE-3 150 130 1
v Q9872 4SS5 -650 660  3NS6 690 1.0 1 v 6CE-3 -150 -690 4HE4 420 7.0 1
« KJ954 Dif: -720 NS:0 5SS5 650 0.0 1 o K74 Dif: 630 NS:13 3NW5 460 6.0 1
» Ad43 IMP: -12 EW:-12 4SS5 650 0.0 3 » KQ7 IMP: 12 EW:-5 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 + + 863 3CS5 150 -11.0 1 ||e AQJ962 * 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 2SS2 -110 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS3 -150 Mean: 2SE-3 300 30 1
v KJT7 1NE-1-50 70  1NN2 120 20 1 v QT97 2SE-3 -300 180 1CW-3 300 3.0 2
¢ QT5 Dif: -60 NS:-1 2SS2 110 1.0 2 + KJ86 Dif: 150 NS:3 1CW-2 200 1.0 2
& A954 IMP: -2 EW:-1  1NE-2 100 1.0 4 a J63 IMP: 4 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 28S-1 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2CS-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2NS2 -120 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 150 Mean: 2NE2 120 3.0 1
v T85 3NS-150 280 4SN5 450 50 2 v QT6 1NE4 180 -220 1NW2 120 3.0 1
o AKT Dif: -170 NS:-8 4HN5 450 50 1 * K2 Dif: -30 NS:1  1NW3 150 2.0 4
a7 IMP: -5 EW:4 4SN4 420 40 1 » Q73 IMP: -1 EW:-2 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
* 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W 3~3~3
# 19 » Q6 5HNG -480 Mean: 6DS6 920 100 1 ||# 20 » KQ8 4HN4 -620 Mean: 4HS4 620 8.0 4
v QJ8B73 5DS6 -420 470  5HN6 480 00 2 v KT42 4HS4 -620 260  4HN4 620 80 3
o A732 Dif: -60 NS:-2 4HN6 480 00 2 + K8 Dif: 0 NS:8 1NN1 90 50 1
» 54 IMP: -2 EW:0 4HN5 450 1.0 6 » AK43 IMP: 0 EW:-8 4HS-1 100 -80 3
& AT952 » KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




St - - 2
11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
Ve
#1: 13 JE1E(165.65) #2: 3 Oceans(133.74) #3: 1 BEFK(129.26)
1 O NS: ZREE 5 HEAC) 2 5 NS: [RiZ: B E/(BO) 3 VP:| 9.61 10.39| Total VP: 88.21 Rank:
EW: FaBiE RERABHO) -3 EW: 3IIER] BRFR(FAC) -2 IMP:| 25 : 26 12
. S ———————————ry—
# 11 » K98 4HS6 -480 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HE5 450 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 450  4HS5 450 00 8 vdJ 3NW5 460 -440 4HW4 420 1.0 1
+ AQ64 Dif: 20 NS:0  3NN5 460 00 3 ¢ KT4 Dif: -10 NS:-1  4HW5 450 0.0 6
#» K853 IMP: -1 EW:-1 » AQ84 IMP: 0 EW:0 4HES5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 ¢ 85 * AT2 + Q83 2SXN-3  -800 -8.0 1
& AT42 & QJ7 & K97 T
®IVeN LQT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 3NN4 -630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE7 1310 Mean: 6CE-3 150 130 1
v Q9872 6CS6 -1370 660  3NS6 690 1.0 1 o 3NW5 460 -690 4HE4 420 7.0 1
« KJ954 Dif: 740 NS:12 5SS5 650 0.0 1 o K74 Dif: 850 NS:6 3NW5 460 6.0 1
» Ad43 IMP: 12 EW:1 4SS5 650 0.0 3 » KQ7 IMP: 13 EW:12 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 100 130 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 *eveN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 -110 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1CW-2 -200 Mean: 2SE-3 300 30 1
v KJT7 INE-2-100 70  1NN2 120 20 1 v QT97 2NS4 -180 180  1CW-3 300 3.0 2
¢ QT5 Dif: -10 Ns:1 2Ss2 110 1.0 2 + KJ86 Dif: 20 NS:0 1CW-2 200 1.0 2
& A954 IMP: 0 EW:-1 1NE-2 100 1.0 4 a J63 IMP: -1 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 ¢ A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ aAKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4SN5 -450 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW4 180 Mean: 2NE2 120 3.0 1
v T85 3SN4 -170 280  4SN5 450 50 2 v QT6 1NW4 180 -220 1NW2 120 3.0 1
o AKT Dif: -280 NS:-3 4HN5 450 50 1 * K2 Dif: 0 NS:1  1NW3 150 2.0 4
a7 IMP: -7 EW:-5 4SN4 420 40 1 » Q73 IMP: 0 EW:-1 1NW4 -180 1.0 3
4T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 -450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HN4 -620 Mean: 4HS4 620 8.0 4
v QJ8B73 2NN6 -240 470  5HN6 480 00 2 v KT42 4HS-1100 260  4HN4 620 80 3
o A732 Dif: 210 NS:-6 4HN6 480 00 2 + K8 Dif: -720 NS:-8 1NN1 90 50 1
» 54 IMP: -5 EW:1 4HN5 450 1.0 6 » AK43 IMP: -12 EW:-8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




St - - 2
11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
Ve
#1: 13 JE1E(165.65) #2: 3 Oceans(133.74) #3: 1 BEFK(129.26)
1 1 NS: SEHfEE RHIETEGEE0) 1 3 NS: EAtH 4 BRERT(BAC) 6 VP:| 4.25 15.75| Total VP: 80.21 Rank:
EW: (FiEZE SHETEI O EW: RiE5 $BHEEE(O) 16 IMP:| 3 T 22 14
. s
# 11 » K98 4HS5 450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 2SXN-3 -800 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 460 450  4HS5 450 00 8 vdJ 4HWS5 -450 -440  4HW4 420 1.0 1
+ AQ64 Dif: -10 NS:0 3NN5 460 00 3 ¢ KT4 Dif: -350 NS:-8 4HWS5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: -8 EW:0 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 ¢ 85 * AT2 + Q83 2SXN-3  -800 -8.0 1
& AT42 & QJ7 & K97 T
*eveN QT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4SS5 650 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HEG6 -980 Mean: 6CE-3 150 130 1
v Q9872 3NS6 690 660 3NS6 690 1.0 1 o 4HEG6 -480 -690  4HE4 420 7.0 1
« KJ954 Dif: -40 NS:0 5SS5 650 0.0 1 o K74 Dif: -500 NS:-7 3NW5 460 6.0 1
» A43 IMP: -1 EW:-1 4SS5 650 0.0 3 » KQ7 IMP: -11 EW:-5 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 100 130 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 *eveN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NN3 150 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1NS3 150 Mean: 2SE-3 300 30 1
v KJT7 INE-2100 70  1NN2 120 20 1 v QT97 2NS3150 180  1CW-3 300 30 2
¢ QT5 Dif: 50 NS:2 2SS2 110 1.0 2 + KJ86 Dif: 0 NS:-1  1CW-2 200 1.0 2
& A954 IMP: 2 EW:-1 1NE-2 100 1.0 4 a J63 IMP: 0 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 ¢ A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ aAKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4SN6 480 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 -150 Mean: 2NE2 120 3.0 1
v T85 4SN5450 280  4SN5 450 50 2 v QT6 2NE2 -120 -220 1NW2 120 3.0 1
o AKT Dif: 30 NS:5 4HN5 450 50 1 * K2 Dif: -30 NS:2 1NW3 150 2.0 4
a7 IMP: 1 EW:-5 4SN4 420 40 1 » Q73 IMP: -1 EW:-3 1NW4 -180 1.0 3
4T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HN-1 -100 Mean: 4HS4 620 8.0 4
v QJ8B73 4HNG 480 470  5HN6 480 00 2 v KT42 2NN-1-100 260  4HN4 620 80 3
o A732 Dif: -30 NS:-1  4HN6 480 00 2 + K8 Dif: 0 NS:-8 1NN1 90 50 1
» 54 IMP: -1 EW:0 4HN5 450 1.0 6 » AK43 IMP: 0 EW:8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 14& F<F 2RBERF HL 2 == RII 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
1 2 NS: REF FHHEREIC) 7 1 NS: EXiE sRBHE(FO) -2 VP:| 17.34 : 2.66 Total VP: 122.01 Rank:
EW: PRERE HZZZEH0) 22 EW: $E{_#% MER(FC) -7 IMP:| 40 13 5
. s
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW4 420 Mean: 4HW-1 50 10.0 1
v Q3 4HS5 -450 450  4HS5 450 00 8 vdJ 4HW5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 0 NS:0 3NN5 460 00 3 ¢ KT4 Dif: -30 NS:0 4HW5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: -1 EW:-1 4HE5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * A72 + Q83 2SXN-3 800 -80 1
& AT42 + QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 4SS5 -650 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE6 1210 Mean: 6CE-3 150 130 1
v Q9872 6CS6 -1370 660  3NS6 690 1.0 1 o 4HEG6 480 -690 4HE4 420 7.0 1
« KJ954 Dif: 720 NS:12 5SS5 650 0.0 1 o K74 Dif: 730 NS:5 3NW5 460 6.0 1
» Ad43 IMP: 12 EW:0 4SS5 650 0.0 3 » KQ7 IMP: 12 EW:11 4HE6 480 50 5
a T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 s Q2 1NE-2 -100 Mean: 1NN3 150 2.0 2 [|# 16 » K5 2NS4 -180 Mean: 2SE-3 300 30 1
v KJT7 1NN3 150 70  1NN2 120 20 1 v QT97 3NS-150 180 1CW-3 300 3.0 2
¢ QT5 Dif: 50 NS:2 2SS2 110 1.0 2 + KJ86 Dif: -230 NS:-6 1CW-2 200 1.0 2
& A954 IMP: 2 EW:-1 1NE-2 100 1.0 4 a J63 IMP: -6 EW:0 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_— v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT + 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
PIVEN LAKJIT53 PIVEN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4HS4 -420 Mean: 4SN6 480 50 1 ||#18 » T8543 3NW3 400 Mean: 2NE2 120 3.0 1
v T85 2SN5-200 280  4SN5 450 50 2 v QT6 1NW3 150 -220 1NW2 120 3.0 1
o AKT Dif: 220 NS:-2 4HN5 450 50 1 * K2 Dif: 250 NS:2 1NW3 150 2.0 4
a7 IMP: -6 EW:-4 4SN4 420 40 1 » Q73 IMP: 6 EW:5 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
* 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1[|N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
# 19 » Q6 5DS6 -420 Mean: 6DS6 920 100 1 ||# 20 » KQ8 4HS-2 200 Mean: 4HS4 620 8.0 4
v QJ873 4HN5 -450 470  5HN6 480 00 2 v KT42 1NN1-90 260  4HN4 620 80 3
o A732 Dif: 30 NS:-1 4HN6 480 00 2 * K8 Dif: 290 NS:-5 1NN1 90 50 1
» 54 IMP: 1 EW:2 4HN5 450 1.0 6 » AK43 IMP: 7 EW:10 4HS-1 100 -80 3
& AT952 » KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 [|e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 + AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®¢VEN o8 PIVEN ,JI73
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ9g4 S ~~32~ 40Q7
E ~~~ 2~ aAKT72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




v 4 —_—
11 114# £ <2 > RApERF L e ==> Rl 11
#1: 13 7515(165.65) #2: 3 Oceans(133 74) #3: 1 TERX.(129.26)
1 3 NS: BE1H4Y BRERFEEAC) 6 1 1 NS: FHIEZE RHEF(BE] VP:| 15.75 : 4.25 Total VP: 165.65 Rank:
EW: BiE7 FE5EE0) 16 EW: Fig=E5 EHEHT(F( IMP:| 22 : 3 1
. s
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 2SXN-3 800 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 450  4HS5 450 00 8 vdJ 4HW5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 10 NS:0 3NN5 460 00 3 ¢ KT4 Dif: 350 NS:0 4HWS5 450 0.0 6
#» K853 IMP: 0 EW:0 » AQ84 IMP: 8 EW:8 4HES5 450 0.0 2
a J74 & A6532 4 Q53 & AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 + 85 * AT2 + Q83 2SXN-3 800 -80 1
& AT42 & QJ7 & K97 T
*eveN QT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4SS5 -650 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HE6 980 Mean: 6CE-3 150 130 1
v Q9872 3NS6 -690 660  3NS6 690 1.0 1 o 4HE6 480 -690 4HE4 420 7.0 1
« KJ954 Dif: 40 NS:1 5SS5 650 0.0 1 o K74 Dif: 500 NS:5 3NW5 460 6.0 1
» A43 IMP: 1 EW:0 4SS5 650 0.0 3 » KQ7 IMP: 11 EW:7 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 + + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 -100 -13.0 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 PIVEN T
N 6~3~4 ¢AJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 &832
W ~~~~~ W6~6~5
# 15 s Q2 1NN3 -150 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1NS3 -150 Mean: 2SE-3 300 30 1
v KJT7 1NE-2-100 70  1NN2 120 20 1 v QT97 2NS3 -150 180  1CW-3 300 3.0 2
¢ QT5 Dif: -50 NsS:1 2SS2 110 1.0 2 + KJ86 Dif: 0 NS:-1  1CW-2 200 1.0 2
& A954 IMP: -2 EW:-2 1NE-2 100 1.0 4 a J63 IMP: 0 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 * A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4SNG6 -480 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW3 150 Mean: 2NE2 120 3.0 1
v T85 4SN5 -450 280  4SN5 450 50 2 v QT6 2NE2 120 -220 1NW2 120 3.0 1
o AKT Dif: -30 NS:5 4HN5 450 50 1 * K2 Dif: 30 NS:3 1NW3 150 2.0 4
a7 IMP: -1 EW:-5 4SN4 420 40 1 » Q73 IMP: 1 EW:-2 1NW4 -180 1.0 3
T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 -450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HN-1 100 Mean: 4HS4 620 8.0 4
v QJ8B73 4HNG -480 470  5HN6 480 00 2 v KT42 2NN-1100 260 4HN4 620 80 3
o A732 Dif: 30 NS:0 4HN6 480 00 2 + K8 Dif: 0 NS:-8 1NN1 90 50 1
» 54 IMP: 1 EW:1 4HN5 450 1.0 6 » AK43 IMP: 0 EW:8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1




G- < 2
11 114 £ § 2 RBERF HL e ==> Rl 11
L v U
Ve
#1: 13 7545(165.65) #2: 3 Oceans(133.74) #3: 1 #FK,(129.26)
1 4 NS: #BRE BREEENERC) -13 3 NS: 8% REiE(B0o) 7 VP:| 4.03 15.97 | Total VP: 124.38 Rank:
EW: BEEEE) BREREH(BIO) -7 EW: gl1818 EBUR(BAC) 13 IMP:| 1 21 4
. s -
# 11 » K98 4HS5 -450 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HW5 450 Mean: 4HW-1 50 10.0 1
v Q3 4HS6 -480 450  4HS5 450 00 8 vdJ 4HW5 450 -440  4HW4 420 1.0 1
+ AQ64 Dif: 30 NS:1  3NN5 460 00 3 ¢ KT4 Dif: 0 NS:0 4HWS5 450 0.0 6
#» K853 IMP: 1 EW:0 » AQ84 IMP: 0 EW:0 4HES5 450 0.0 2
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